
 

Crown Automotive Sales Co., Inc. 
RT26083 Off‐Road Jack Mount 

Installation Instructions 
 

Item  Description 

 
 

Qty 
A  Lower Jack Plate  1 
B  Angle Bracket  1 
C  Straight Bracket  1 
D  M8 x 1.25 Bolt  3 
E  M8 Washer  6 
F  Sleeve  1 
G  1/4"‐20 x 3/4" Bolt 1 
H  1/4"‐20 Nut  1 
I  5/16”‐18 Carriage Bolt  1 
J  5/16”‐18 Knob  1 
K  Wing nut  1 
L  Wing Bolt  1 

 
NOTE: Ensure the tailgate remains closed throughout the installation procedure.  Failure to  

do so will cause the tailgate to require alignment after installation is complete. 
 

1. Ensure that all components in kit are accounted for. 
2. Carefully remove both plastic tailgate hinge covers from the vehicle.  This should 

be done by prying on the hinge end of the cover. 
3. Using the included templates as a guide drill a 7/8” hole into the tailgate hinge 

covers using a wood boring drill bit. 
4. Remove the right bolt from the upper tailgate hinge.  Install the upper tailgate 

hinge cover.  Mount, but do not torque, A to the vehicle using D, E, & F as 
shown in Figure 1.  D should pass through the slotted hole in A. 

5. Mount, but do not torque B to A using G and H as shown in Figure 1. 
6. Install the lower tailgate hinge cover.  Remove both bolts from the lower hinge.  

Mount A to the vehicle using D and E as shown in Figure 2.  Torque these bolts 
to 15 ft. lbs. 

7. Place the off‐road jack onto A with the hook facing out.  Loosely mount B to the 
jack using I, F, E, and J as shown in Figure 1. 

8. Loosely mount the off‐road jack to A using E, L, and K as seen in Figure 2.  Make 
any adjustments necessary on the upper and lower mounts to ensure the off‐
road jack is perfectly vertical. 

9. Once the position of the off‐road jack is set torque the upper D to the tailgate to 
15 ft. lbs.   Torque H to 10 ft. lbs. 

10. Tighten L, K, and J as tight as possible by hand.  Lightly moving the off‐road jack 
should help with ensuring this hardware is as tight as possible. 

 
NOTE: Be sure to check hardware torque on a regular basis.  Failure to do this can cause damage to the vehicle. 

 
While every attempt is made to ensure that the information contained in these instructions are correct, no liability can be accepted by the authors for loss, 

damage or injury caused by any errors in, or omissions from the information given. All service should be performed by qualified mechanics. Crown Automotive 
Sales Co., Inc. cannot be held responsible for any mechanical work performed. Standard and accepted safety precautions and equipment should be used in every 

procedure. 


